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Guess Paper – 2009

Class – X
Subject – Mathematics(Paper II)
Time: 3 hr                                    -                     Max marks: 80

SECTION- (A) (one mark for each question)
1. Find first negative term of AP 109,105, 101…..
2. A jar contains 24 marbles some are green and other are blue .if a marble is drawn at random from jar, the probability that is green is 2/3. Find the number of blue marbles in the jar. 
3. A bicycle wheel makes 5000 revolutions in moving 11 km .find the diameter of the wheel.

4. If √3 tan θ =3 sin θ, then find the value of sin2 θ -cos2 θ.
5. If the HCF of 408 and 1032 is expressible in the form 1032x – 408 x 5.find the value of x.
6. If an external point of a circle is at a distance equal to the diameter of the circle from the centre of circle, find length of tangent drawn from the external point.
7. If the areas of two similar triangles are equal, prove that they are congruent.
8. Find the roots of quadratic equation    4x2 - 4a2x + (a4-b4) = 0.
9. For what value of k, will the system of equations     x + 2y = 5,    3x + ky +15 = 0 has a (i) unique solution or (ii) no solution.
10. Find k if the sum of zeroes of the polynomial is two less than half of their product. x2- (k + 6) x + 2 (2k-1)
                                        SECTION- (B) (two marks for each question)

11. Without using trigonometric tables, evaluate the following  (tan 20• /cosec 20)2+ (cot 20•/ sec70•) 2  + [ 2 tan 15• tan37• tan53• tan60• tan75•].

12. The length of a segment is of 10 units and the coordinates of one end –point are (2,-3).if the abscissa of the other end is 10, find the ordinate of other end.
13. A circle touches all the four sides of a quadrilateral ABCD. Prove that the angles subtended at the centre of the circle by the opposite sides are supplementary.
14. The sum of squares of two numbers is 233 and one of the numbers is 3 less than twice the other number. Find the numbers.
                                                       Or

      The sum of a number and its positive square root is 6/25. Find the number.

15. A peacock is sitting on the top of a pillar, which is 9m high. From a point 27m away from the bottom of the pillar, a snake is coming to its hole at the base of pillar. Seeing the snake the peacock pounces on it. If their speeds are equal, at what distance from the hole is the snake caught?  

                                SECTION- (C) (three marks for each question)
16. If A (4,-8), B (3, 6) and C (5,-4) are the vertices of a ∆ABC, AD is median and P is a point on AD such that AP/PD=2, find the coordinates of P& length of median AD. 

                                                                  Or

    Find the ration in which the line 3x + y-9 =0 divides the line-segment joining the points (1,3) ,(2,7). 
17.       cot θ -1        ==       cot θ

           2-sec2 θ                 1+ tan θ                                            
18. Solve the following equations. 2 (ax-by) + a + 4b = 0,         2(bx + ay) + b- 4a = 0  

                                                                    Or

           a2   _   b2   ==  0    ,      a2b    +   b2a   ==     a + b[image: image1.png]
           x         y                        x            y

                                                                                                                                               34cm
19. A letter block P which is uniformly broad throughout. The column is rectangular and               20cm                

       curved portion are semicircular .Find area of the blackened area.                                        3.6cm                                              
20. Find the number of terms in series 20 +191/2+181/2 +…of which of the sum are 300, explain the double answer.

                                                                    Or 

21. Find S24 of an A.P. a1, a2, a3,…..a24, given that a1 + a5 + a10 + a15 + a20 + a24 = 22Prove that √5-3√2 is an irrational number.                                                                               
22.  Draw a triangle ABC with side BC=7cm, (B = 45•, (A=105•. Then construct a triangle whose sides are 1.25 times the corresponding sides of ∆ A’B’C.                                                                      

23. The line segment joins A (2, 3) & B (-3, 5) is extended through each end by a length equal to its original length. Find coordinates of the new ends.

24.         A                          .                                                                                                                                                       

          X                Y          area of ∆ABC =16 cm2 XY 11gm BC, AX: XB =3:5, find area of ∆BXY                  

        B                     C

25. Cards are marked with numbers 1,2,3,….25 are placed in a box and mixed thoroughly and one card is drawn at random from the box. What is the probability that the number on card is (i) a prime number? (ii) A multiple of 3 or 5? (iii) Neither divisible by 5 nor by10?
                                           SECTION- (D) (six marks for each question)
26. In a ∆, if the square of one side is equal to the sum of the other two sides then the angle opposite to first side is right angle. Using above theorem solve the following question. In a quadrilateral ABCD, CA=CD, (B=90• and AD2 = AB2 + BC2 + CA2.Prove that (ACD = 90•.
27.  Selvi‘s house has an overhead tank in the shape of a cylinder. This is filled by pumping water from a sump (an under ground tank) which is in the shape of cuboid. The sump has dimensions 1.57m x 1.44m x 95cm.The overload tank has its radius 60 cm & height 95 cm. Find the water left in sump after the overload tank has been completely filled with water from the sump which had been full. Compare the capacity of the tank with that of the sump. (Take л = 3.14)
28.   A fire in a building B is reported on telephone to two fire stations P & Q, 20 Km part from each other on a straight road. P observe that the fire is at angle of 60• to the road and Q observes that it is at an angle of 45• to the road. Which station should send its team and how much will this team have to travel?   
                                                                              Or

              A 1.2m tall girl spots a balloon moving with the wind in horizontal line at a height of 88.2m from the ground. The angle of elevation of the balloon from the eyes of the girl at any instant is 60•. After some time, the angle of elevation reduces to 30•. Find the distance traveled by the balloon during the interval.      

29. If the median of the following data is 32.5, find the missing frequencies.

	Class interval
	0-10
	   10-20
	  20-30
	   30-40
	40-50
	50-60
	60-70
	70-80
	Total

	frequecy
	f1
	    5
	      f2
	     12
	   6
	   3
	    2
	     2
	40


                                                                  Or
 A survey regarding to heights of 50 boys of class was conducted & following data is obtained 
	Height(cm)
	140-145
	145-150
	150-155
	  155-160
	 160-165
	165-170

	No.of  boys
	     12
	     10
	     8
	       9
	       6
	       3


Draw both the ogives for the data & hence obtain the median height of boys.

30. A & B start from points P& Q in the opposite directions. After 2 hour, they meet at 24 km from P. when B reaches P, 20 km remains for A to reach Q. Find the distance between P& Q.
                             By:   Mukesh Garg,  
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